UP Board Solutions for Class 6 Hindi Chapter 38 SHRIC
Sit AERAT Sff eTeT (WeTH Afdaa)

TS & IR

SHRIE Sff TR Sft €leT 3 HRd & Sefie faera & gyl arer farar| 3961 S ToRTd
& IR gRkaR o 3 AR, I 1839 S0 HI §3MT| 39! URMRISE e T T g1 3 &1 UeTs

Tfoifthee dics B O3 1| UgTs & GRIF -1 f3aTg SRIETS I gl ¥ 1856 So & 37 U
RIS STt BT 5 g3l

fR1e & 918 $3 a7 IHTAd Bb 5614 39 BIS e 3R 30 UJe A AR & B ol
514 BNTHNT 3R TUTE S TR § 37U+ SUTUR o1 YR Wil | 5614 I & SR

3R S TTRIT BT HHT fHaT| T/ TR I db TG SR

ABTYMR 3R ATER AR &1 T B, S 9% S & b5 U1 T81 ad SN Tra=ft gawraff
&1 gy fhar|

TR ACHR S5+ 3MUAT ADM 3R ol Trufy STBR bol Bl SN B 3R ATUTRET bl
T T 31O T FeTs | ST HTE! WA & §R g U | STHRIG Sff YRd H AaeR 3R
ABTRIIR S} I7d & 1 e R A1 T8 A1 3811 ST fob 310 HRd T Tl Wi
HUN Y T4 HUS| B! URA J ATHR $Hd g R II @ ¢ | 399 3 g g3l

SHART 1877 o T S84 ANTR T 0N id & RITIHT B | HUST fHd & TG & &1 I 1880
%0 T TR+ SHTd I T HRAT AT 39 T8 I B WP SIS TWPR -

epa I & oF T fo=ISRT o1 Wil Td&mr 9 g1 oT; at gaT
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Uy 1.
THERIE St 7 D 3R e & T bl Hi?

3TN :
SHRIE S 3 T 3R 0TS 1 AT ATUR 3R S TaRIT T 31T B4 & fa &1

Uy 2.
SIHRIG Sit B TQ = et T RITGHT T T I =G U7

3TN :
THRIG S Pt TR e &bl RITTAT BT I UT- SUH Dt HIGATI J S & Hed HId BT ST
S 7 g1 B 9184 A




Y 3.
STHRIE STt = e farT Sl 1 RATTAT B1?

3R :
ARG off A ANTQR & U 919 P et ol 1 {7 Wiet | 39 91
ST IYNT B RITIAT THRIGYR H B |

UH 4.
el (v) YAl ITeld (X) BT fag ey (g amens) —

(F) STERIG St BT ST IR UG T g3 AT (X)
(W) TIRAM SN 3701 Faar fag= & T ared 21 (v)
(3T) STHRIG Sif 1 Taqr | 3 a1 4t (X)

(F) THRMR 3R AR a7 I & G- &% A1 (V)

Uy 5.
TG T T Mg I BITCT (THE Y ST ek B BICHR) —

(@) TR, foept, fagwr, IeR
(@) WReH, HUMN, =M, ST

(3T) ABHIRRR, AR, TR, STHRIGYR
3N :

(@) facar|
(@) W |
() STERICYR |

UY 6.
G SIS SIS (Te! Sile § 1) —

() 9 o o +T e § BLEER T

(|) 3= =4 °§ TR | S G 1877 30

() 3 fire qag (F93) 3 TY

() 3999 33 AR 3T 31¢f = F1 3reggA fFan





